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QUESTION 1

What order is recommended when setting and releasing locks in your program? 

A. read da,lock da, update dabase, release locks 

B. lock da, read da, release locks, update dabase 

C. lock da, read da, update dabase, release locks 

Correct Answer: C 

 

QUESTION 2

When is it better to buffer the ble? 

A. When a ble is linked to check bles 

B. When a ble is read infrequently 

C. When a ble is read frequently and the da seldom changes 

D. When a ble is read frequently and the da is always changing 

Correct Answer: C 

 

QUESTION 3

What DOES NOT determines the behavior of the search help? 

A. the interface of the search help 

B. dialog behavior 

C. user master record parameters 

D. the selection method that determines the values 

E. to be displayed 

Correct Answer: C 

 

QUESTION 4

What is true about subscreen? (More than one answer is correct) 

A. Multiple subscreens are possible in a single screen. 

B. You can also specify the subscreens dynamically at runtime. 
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C. Can set their own titlebar 

D. Can set their own GUI stus have their own OK_CODE 

Correct Answer: AB 

 

QUESTION 5

How can you improve the performance when accessing a large data volume database table? 

A. Apply the appropriate data class and size category. 

B. Switch the database table to fully buffered. 

C. Define appropriate indexes for the database table. 

D. Change the table type in the dictionary 

Correct Answer: C 

 

 

QUESTION 6

What attribute in a ble control must be defined in order to activate row selection functionality? 

A. TOP_LINE 

B. w/selcolumn 

C. LINE_SEL_MODE 

D. Function code 

Correct Answer: B 

 

QUESTION 7

Which of the following are incomplete ABAP pre-defined data types? (Choose three.) 

A. T 

B. X 

C. N 

D. D 

E. P 

Correct Answer: BCE 
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QUESTION 8

What object is not supported by the Modification assisnt? 

A. User exits 

B. Text Elements 

C. Functions 

D. Menus 

Correct Answer: A 

 

QUESTION 9

How can you maintain documentation for input fields on your screen? 

A. Add documentation to the SCREEN table at PROCESS BEFORE OUTPUT (PBO). 

B. Add documentation to the SCREEN table at PROCESS AFTER INPUT (PAI). 

C. Add documentation to the underlying data element. 

D. Define text tables for the underlying structure. 

Correct Answer: C 

 

 

QUESTION 10

You want to read data from two database tables A and B using a database join. Database table B contains details for
data records stored in database table A. Your result should contain all combinations of matching rows from A and B plus
all rows from A that do not have matching rows in B. 

Which statement do you use? 

A. SEcLECT … FROM a JOIN b … 

B. SELECT … FROM a INNER JOIN b … 

C. SELECT … FROM b RIGHT OUTER JOIN a … 

D. SELECT … FROM a LEFT OUTER JOIN b … 

Correct Answer: D 
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QUESTION 11

What stement allows you to generate a report from an online transaction? 

A. LEAVE TO BASIC LIST 

B. LEAVE TO LIST-PROCESSING 

C. CALL REPORT report_name 

D. GENERATE list 

Correct Answer: B 

 

QUESTION 12

What can be part of the signature of an instance constructor? (Choose two.) 

A. Importing parameters 

B. Changing parameters 

C. Exporting parameters 

D. Exceptions 

Correct Answer: AD 

 

QUESTION 13

The code of an executable program does NOT contain any event keywords. 

What event block does the code belong to? 

A. AT SELECTION-SCREEN 

B. LOAD-OF-PROGRAM 

C. INITIALIZATION 

D. START-OF-SELECTION 

Correct Answer: D 

 

QUESTION 14

Identify the valid stement when coding a field exit. 

A. MESSAGE I101. 

B. BREAK-POINT. 
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C. MESSAGE E101. 

D. SUBMIT RSCA101X. 

Correct Answer: C 

 

QUESTION 15

Which of the following statements dynamically changes the data type of field z1? 

A. Assign z1 to casting 

B. Assign z1 to  

C. Move z1 to  

D. Unassign  

Correct Answer: A 
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